($REFIE] () FR26FEE NWXFHE

ER265EE N FEE
(ER26FE481BMSER27E3HA31AET)

(B M)
il E] 26 F & %8 25F EHEE iR &%=
I —RRIERREAEIBRDOER
1 BEEER O
(1) BEINE
E XK M E & A & 1,000 1,000 0
EABEMNB R K 1,000 1,000 of EXBEESFE
¥ T EE E A & 500 500 0
BEEESDHAA 500 500 of BEBEESFA
= HY = -1 4,724,000 4,824,000 -100,000
EEN-E3 EE 4,700,000 4,800,000 -100,000| EHREEFRE
EHhWEEZMEE 24,000 24,000 o| ZEELEELE
= 3 IR i 949,800 1,654,500 -704,700
M EF X IR K 375,300 310,500 64,800 WHEE%X SmE
L 8 F X I & 80,000 60,000 20,000| TAIREELSEIRA
BRANEEEFEENRE 80,000 650,000 -570,000| BE4E% SmMLE
SEEHEEZTENE 414,500 634,000 -219500] EERREEXESNRE
% I B & % 4,037,500 5,102,700 -1,065,200
E E ® B £ 0 470,000 -470,000| SEHERERTEEENSE
SMEZEMRERE 4,037,500 4,008,300 29200 2ZEBEABREENME
S R EW®BBE 0 624,400 -624,400( BEHENEE
2 W & #H £ 618,500 677,000 -58,500
% B & #H £ 338,500 397,000 -58,500| SEBHFELAEE
EEEE EEE 280,000 280,000 of| EEEE -kHNE T8
# IR i 76,500 38,500 38,000
2 W F B IR = 500 500 EEEZS
M I iy 76,000 38,000 38,000 RBCFESH
BFEINEEET @ 10,407,800 12,298,200 -1,890,400
(2) BEER
= *x -1 8,595,710 9,822,800 -1,227,090
& # F =] 3,067,200 3,067,200 ol ZEALHBEKRETY
R B E B £ 172,800 325,000 -152,200| FERSEREESRS
B B # & A 0 0 0
E M E & B 799,200 864,000 -64,800| ZAERANE -EIELESE
E B £ R E 245,700 243,000 2,700| BAIRBANDEBERE
= E & 360,350 443,000 -82,650| &£i& SHE-HREH
w & x & & 595,800 809,000 -213,200| BZBEOREE -HERE
B E E % E 309,240 268,000 41,240| EBEEH -EMEM - FEH
WOl B A 0 0 0
H % an & 288,920 539,000 -250,080| EHEAM-IE—RRE
m R & X B 464,820 325,400 139,420| RIMENRIN-BEERNTFE
=% & = 60,000 30,000 30,000( fihF{A=E
B & # 629,856 610,200 19.656| BIRBREBMEEHRH
® & #l 2,000 9,000 -7000| EESNESERESE
F Eil & 698,680 654,000 44680 HEETHIESE
X # & B £ 199,000 332,000 -133,000| t#EAKEE SNEE-ZiE
S & & 361,000 600,000 -239,000 HP#l{E-RyFEBZ
= 15 = 177,630 160,000 17,630 BELISE-REERH
L & B & & 0 12,000 -12,000| FELEESE
= & = 21,000 30,000 -9000| BERESE
1) — 74 #l 129,600 117,000 12,600 OA#%28)—R %}
X H F O OH 8,100 341,000 -332,900| ERMERETFHHE
B H g % 0 39,000 -39,000| #FREEEFH
H & 4,814 5,000 -186| &




($REFIE] () FR26FEE NWXFHE

(Efr: M)
7l E] 26 F & %8 25FHEE iR &%=
= I E 1,812,090 2,452 500 -640,410
e # F =] 340,800 340,800 0| BEHREG -F3H
R B E B £ 19,200 35,000 -15,800| BEREEREES
B B A & B 0 0 0
B M E & =B 88,800 96,000 -7,200| EZAEEMNE -EINELE
T B £ £ & 27,300 27,000 300| AIREFAADERBERIE
= E % 568,150 698,000 -129,850| BEREE-SEMER
w B x B8 & 52,200 172,000 -119,800| HBERBEE -HERE
B OE E % = 75,080 124,580 -49,500( FEEEF - EREH - FEH
WO B A B 0 0 0
H % & & 7,880 76,000 -68,120| EHAR-aE—RAKE
Rl &R KX & 87,120 145,500 58,380 | HRERHEEFH - B, AHENRIR
g ] 4 69,984 67,800 2184| BIREREHEEMEH
R 3 # 0 30,000 -30,000| A @niRE¥ %
il i N 72,000 72,000 0| 5T
8 il & 67,000 70,000 -3000| ZM=E-E&HFH
E 3 & 73,000 50,000 23,000 HPL¥RBEEZR
& 15 & 0 77,800 -77.800| SENSHEFIREE
B N B F B 37,000 30,000 7,000| HH-NE-FH-BE-EHE
Eol & & 123,700 120,000 3,700 BEELE-hEKLE
= & & 5,000 10,000 -5000| BEREES
1) — = #l 14,400 13,000 1,400 OA#&%281)— %l
X #H F #H A 74,200 170,000 -95,800 E£RbHERIFHHE
i M g B 6,600 22,000 -15,400| SR
M & 2,676 5,020 -2,344| ME
BEERT @ 10,407,800 12,275,300 -1,867,500
SHE IS S R R AT L AR E R AR 0 22,900 -22,900
2 BENMEBDER 0
(1) BESIREE 0
it 0 0 0
) BENER 0 0
i 0 0 0
LEARREIMEREE 0 0 0
LE AR IERBAE IR RAE 0 22,900 -22,900
—RRIEREAEE RS 10,099,114 10,302,814 -203,700
—RRIECREAEEEAR IR S 10,099,114 10,325,714 -226,600
I EFEIERREAEEBDER 0 0
SREEE 4,037,500 4,008,300 29,200
SmEEENKE 4,037,500 4,008,300 29,200
—RIEREIE~DIREEE -4,037,500 -4,008,300 -29,200
—RRIEREAE~DIREEE -4,037,500 -4,008,300 -29,200
LAt IE KA EE I RR 0 0 0
EEIEKMEREES 0 0 0
IEEIEREIAEIARES 0 0 0
I HE&ERnm 0 0
LEESEEEE 0 0 0
HEeHEks 0 0 0
HEEHRKS 0 0 0
IV EREERRES 10,099,114 10,325,714 -226,600

(FHFEIFEH26FEDTFERITICH->T. HERDRAZROHDLDET D,




